1

PHOST apy roprian,

Kothan River

Lum River

v
s (he
Jmete” \
ni ! aricty
! f
(!0 {o
1 (
y n
| \ | ‘ ca! |,.,'=‘“
[ {oc
npse ment in poultey 3 \1""“
0" inber and quality (e
' h Tolernnce (‘i|yl"“"l‘\:r‘
quift
Iheh maintenance ¢ I

e putll
d Increase in the s12¢ of €

1 e BN
Choose the most upplﬂ[”“'“
() Mahi River ”p“””;,'i\knhf_-‘,)-‘t,_ ﬂd(c)mﬂ/
a
(D) Som River (A) (a). (b) and (d) only ) nd(b)m\!
. y) (a) @
(D Qucstion not .‘)HCH\PINI < (h):\m”d)onl) v
o o (E) Question not attempted 7 FTFA
Te=aT # fEn 99 aw g o e 5 ; .
) ) &l g qmjn}mrr;;, quqjmmwrﬂ?’/»_ﬁ
o o - e —— Y —r— . - - 1
Fefatan fawedt & & watfirs soqe 30 Errtata B 8 far vt o F 0
] - ] B '
NO(A) T I

(B) A1 e
(D) TEI

(E) 1'1*1'7?1'*;—',1

bacterium?

Choose the most appropriate answer from
options given below:

(A)  Mycobacterium sp.
(B) Lacrobacillus sp.
(C)  Streptococcus sp.
(D) Salmonella sp.

(E)  Question not attempled

=7 fom Sy 1 g fopn @ = e
ferfafa fas=1i 2 4 Faifus 39gw 300 -
(A) grza Eaa2iTan 1.

_(B) AzEHEE e ‘>/

(C) 7?7,777?377 ],

(p) areEren # .
(F) FAEasd
ABC-A13] 3K

Curd is formed by the microbial action of which

o T EE i

b, I AT i i geAs e

e  F=a s f smavasdl

& s A e o s A 4G <
HA) A (), (b) 3T (d)

(B) Fa (a) 3T ()

(C) A (b) 3T (d)

M‘mmmwé'»’

(E) ruiE
the

)  ormf 9
( = [ Contd...

11 In Rajasthan Haansli is worn in which part of the
body? ’
Choose the most appropriate answer from the’
options given below:
(A) Hands
(B) Head
(C) Neck
(D) Ear
E stion not attempted
e s gl e T
e e & s 373 ST
N(A) '™
B) fm
(€) W
(D) &
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nt? | 34 Which of the following is not a Rabi crop in

N the northern India?

(A)
(13)
(&
(D)
(E)

‘U :

(A)
(B)
\.(C)
ilable (D)
(E)

Choosc the most appropriate answer from the

options given below:

Gram i)
Wheat
Maize L.

Mustard "}
i 9.4
Question not attempted

ﬁqﬁﬁzﬁq-maﬁifmﬁ&ﬁzﬁwﬁé?
Fefafas fereara'y waﬁ\aa;augﬁwgq

a.ql ~

IS )
HeFeRT WA
W'.\ e
Sated v

_ gy |
| 3% The first phase of Jaipur Metro Rail Project i.c

Phase - 1A startcgl,.\\'ns from:
Choose the most appropriate answer from the
options given below:

| (A)
f (B)

J (C)
:C P (D)
| (E)

BHT ¢

Mansarovafi""tb Jaipur
I\'Iunsarovafrfvtg‘) Badi Choupar
Clmndpolc;to:[}ndi Choupar
z'\'lunsnrova‘f.lg) Chandpole
Question not 'émcmptcd

SrTT 21 et GIEINT T TH ST, T - 1A T
v 1% (L |

']
“l.

- iffa fereedt H @ watfires IUgw I L:

(A)

-
=Iet r(;oln{e_-T §‘Jz,:v_i! (- N reciinne X7 9E
;Ti'vﬂ?{fm’-ﬁﬁ Ll
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Match List-1 with List-11.
I.ist-1 l,l';‘~”
| gcrape and
a. Gobar gas plant [ [ron scrapt i
broken plastic

iems

Vermicomposting 11 Solid waste

Land fill 1. Cow and buffslo
dung
a | I{‘,“ ycling IV. Earthworm
-1 | =11 a1 figerra i1t
"‘?."’-r"-_f \ qet-11
a. TMEUR gy I. e £ diem ﬂ?

b, e R ATz %1 4R
TR~ O\ S s e

e T (cTeftper) \ ML "7 i g A

i, . -
d. Tfzy 1V,

Choose the mogy appropriate answer from 5
Oplions given below:

AR e B R Se—)
(A) a-Lb-1lc-11.d-1V J J
(B) a-IIb- IV,c-1Il1,d-1

-

D) a-ULb-1,c-1,d-1v
(L) Question not attempted / 3-r frawd
[ Conid=

Shotienirealme X7 5G
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ABC-A13] X

|\n ‘Nilagm™ s a species of-

2 the
Choose the most appropriage pnswe! from
« l

options given below;

(A)  Buflalo

(B  Cow

}
(C)  Decer I
(D)  Horse ()

(E)  Question no;:‘i;lcmplcd
*ﬂl"" @WA‘& )y
(A) S H &

-

~(B) TEF# o™

N (©C) fmd (O

D) W

(E) ATORa w1

()

o T o ;
20 The city in which thlc?kite festival is cclebrated in
LN}

Rajasthan, on 14lf:—-.},lanuary the day of Makar
Sankranti, is: O
Choose the most :r};}rropriale answer from the
options given beloxhv‘:‘
(A) Jaipur ¥s
(B) Ajmer ’;‘j
(C) Udaipur ,.")‘
(D) Bikaner (7]
(E) Question no'jl?zillcmplcd
THEH H l43ﬂﬁ£ﬁwﬁmﬁqu
fopy T B AT ST €22
!

\u(A) AT ')
(B) HTHL -

)

(c) L N

] [

(D) BIcaCLs V)

) st

4

21

22

N> (B)

the “Jal Shakg X |

_akeD up - ‘

finistry of' I lx‘hlmi““'sl.l'qlch the “:;“ ,“hc‘!\y

Ministry ol Jal She P following a
-Me he ¢

Abhiyan™ with the '!}L Vhich 0“' ! |

it falls when if falls < o camp?!

: Rainwaty
major intervention ol ) d \
a. Water Ceonser’ " A

er wate il
harvesting di(ional and ot 2ty l\
i« S rd
b. Renovation ol
bodies/fanks borC-WCHS i
c Reuse and RCChnrgfncnl
d.  Watcershed dcvc‘opbon
. .stati
c. Intensive afforestati¢ (¢ answer from tte

Choose the maost approp’™?
options given clow:

(R) (@, (0)(c). (d) and ()
(B) (a),(b)and (c) only

(€)  (b),(c) and (d) only
(D) (b), (©){d)and (e) 0n1Y
(E) Queslic;rj,;lot attempte

Wm:
(A) (@), (b), (), (d) 3T (e)
(B) e (a){ (b) I (©)
(©) Fa (W) (c) 3N (d)
(D) 3 (b, (<), (d) 3T (e)
(E) Hgafeasy
Deforestation i harmful to us because-
Choose the ntost appropriate answer from
options given Bclow:
(A) Ttincreases soil fertility.
It increases soil erosion.
<€) It dccrc{ﬂssgs soil erosion.
(D) Itincreases rainfall.
(E) Queslioﬁ not attempted

TS B U TR &, Fifh-

[Ce
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T ‘ o i, =¥
e, X

-_— I e e

P g (M

Te . ar
;rt'(j’:';'(’d\ 56 Maru Raikas arc the pastoral groups of: Raikis
nswer from the who are-
Choose the maost appropriate answer from the
options given below:
(A) Cattle herders (B)  Camel herders
Hing (C)  Sheep herders (D)~ Goat herders
tem (E)  Question not attempted L
e - mmqmmmm@ﬂﬂﬁﬁi’m
= =Sl Freffia forresi i & raffira Jugw 3 -
(B) wemidm o) Faad
(D) =i i qrerd &
(E) rgufta 9%
sident of the Indian Olympic
57  Gaddi shepherds belong to-
spropriate answer from the Choose the most appropriate answer from the
options given below:
(B)  Smriti Irani " (A) Maharashtra
(D) P.T.Usha (B)  Uttarakhand
attempted (C)  Himachal Pradesh
£1 99 gz srag s 22 (D) Rajasthan
F HFitas 39gw I 94 (E)  Question not attempted
®B) = R o h—y
(D) .2 T ﬁﬁ%’@aﬁmﬁﬁ@wﬁ%mmgﬁ:

(A) TERRYH (B) SWE@sd
() feumawy ) TEEY
the Dronacharya Award is (E) ITf@yy

opriafe answer fro e . .
P from th 58 Whlchofthefollowmg 1s the pastoral community

of Rajasthan?
= Choose th ? from tl
0se the most appropriate answer from the
c Games pprop

options given below:
nwealth Games £

(A) Dhangars (B)  Gujjar Bakarwal
(C) Gaddi Shepherd(D)  Raikas

ted
7[10311?{73 (E)  Question not attempted
&k JUg I : %ﬁ?x:ﬁ%{f‘@a F Y FIH-AT o HT TR T
<41 @t ﬁmﬁ«rf@ﬁf‘amﬁﬁmf@;h
It &1 (A) TR (B) FF
| © mmer @ T
l (E) 313?11:{?{9'%{ [ Contd...
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w  What is the least number whicl when decreased
= by disexacty divisible by 10,12, 14 and 187
et e WY ¥ v ﬁm?:ﬁ 3 T WA (0,

12, 4@ l\ftqvh ﬁ\nmi-ﬁ A

(\) 1200 (B (12506
© 1264 () (71252
(1 Question not avempld / 3t vy
™
50 What is the preates G‘ Tich divi
: rreatest number which divides 149,
248 and 623 leaving remainders 5. S and 11

4
respectively? N\

Rl R T wEn = R, fifqm-w 248 T 623
= fnnfm s w0 s ‘f‘*ﬁﬁ‘n'mm%*

(A 1§ (BY(Ma2o0

(S (DYONM12

(E)  Question not aucmp'\‘e'a / :«F\ﬁfiﬁ o
Q.

| 80 The Foot and Mouth disease of cattle is a-
Choose the most appmpr}ae answer from the
options given below:

(A
L | (B)
E ’ (<

.
ey

Plasmodial disease o

™M
Q)]
F (D) ™M
(E) Question not attempg
T F @mﬁ-x:r—:——'rg-
m‘aﬁjafa-w T q:a'ﬁ‘m—nsw—o—g‘
(A) CATSHITETHET I uﬁ’ e sfa T
(C) W?rmm (D;Q»-mz—.-.?’r
(E) #qAfa 94 ™
o
81 The highest percentage of & is found in which
unimal product? o

Choose the maost appropriate
0

Viral discase
Bacternial disease

Fungal discase

answer from the

options given below:

(A) 'r:Cow milk

Epg (B)
(C)  Meat (D) J"inh
(E)  Question not atempied

% fiwt vy 3z | '/Tf'?m?“”"” e
‘)
]

(

.mﬁmuumrfmﬂ« 5 A7
srm/ ) O F g >
(€) " HiH e ¢ (p) woel Q\Ao‘\

(€)  syaf a4

ABC.A13] $¢

P2

83

(A) q79q . \/;;/ r"rr-rT;
(C) @ Ny
(E) 313%’7.74 o

\L(©)

4

eerducts, 17

wing )mrml pr
s found”

yer from fhe

In which of the follon

f 1 Y
mnmum pcrccm,wc of pro el

AT
Choosc the most appropriofc a0

options given helow

(A)  Meat (fyy (o e

(C) Lgg ll)/ Fraf

() Question not .;rrcm‘ ed P
frgfefram o 1 f7a 5= 2777 # gy T ST
=AY 71 77

ﬁqﬁ%ﬂhﬂrﬂﬂrﬂf'fﬁ?wﬁr ot

re

The system of farming ;/,‘."’~ crop produchion

and raising of livestock ete. are Gone o

fhe sarne

farm is called as-
Choose the most appropriafe ats»er frorn the

options given Eelow:

(A) Croprotation (B) Organic farming
(C) Mixed farming /D, Mixed cropping
(E) Question riot attempred

=T fﬂlr'-?'n)?'l'a':’.?--r’.a ;l?_ﬂ; TET T P T

_ ‘o p >

ISR ANE O E T (B % erde et de el
) il

2 }

o -
Ficad 13

(A) FAS 77 (g, Fa=ah
=Za Ear oy Srmee
(E) 3':'.}’”'. T4
s
Which Naticnal H‘Qﬁ"vi'/ doss aor sass tronga

the Rajasthan? X

Choose the mioss appropriate anmwer [om e

cptions given below:

(A) National Ffighway Mo - 23

(B) NMational Highway No -

(C) Narional Fighway No - [5

(D) National Fighway No - 44

(E) Question not atfempted k
FIFAT T A TASAE F A TR T !

3 .-7."‘ UG TR - - e v e =
> >

(A) TP =T FeAT =23
(B) LW TAIT T -
(C) ™I Ta= T
(D) ™ TIE A -
(Ey A7 o1
‘ r,fvn.'.‘,

Shot on realme X7 5G
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known as the *City of Stepwells® due
prominence of Bawns?
Choose the most appropriate

options given below:

(A)  The City of Ajmer

(B) The City of Udaipur
(C) The City of Bundi

(D) The City of Jaipur

(E) Question not attempted

S=taaa EE-Riscoieical -1 T

Wwﬁﬁwﬂmw%ﬂ
(A) FESTTEC (B) AL AR
() =ZZTR (D) A TET

(E) :ﬁﬁﬁsa

§6  According to the Census of 2011, which of the
following districts of Rajasthan was the second

largest populated district?

Choose the most appropriate answer from the

options given below:

(A)  Alwar (B)
(C) Jodhpur (D)
(E) Question not attempted

Bikaner
Jaipur

mzon%aﬁwﬁﬂﬁﬁmﬂmﬁm

Fﬁtvyﬂyﬁmmmﬁww
St faedi § @ gl I9g® ITTA:
(A) @ (B) AT

\(c) FME (D) AL

(F) AR 9d

87  In summer, hot dry and dusty winds which blow

in Rajasthan are known as:

Choose the most appropriate answer from the

options given below:

(A) Fohn (B) Loo
(C) Chinook (D) Norwester
(E)  Question not attempted

T 1 e § T At 9un v e i

frafatad fag<di 4 @ gaifas 3ugw
0 W .
gh 3T H:

(A) w1

© f=
(E) i qd

ABC-A13] 3¢

B) T

(D) TIRR

Which of the following cities in Rajasthan s
o the

answer from the

88

89

(A\) Mavath
(3) The Blossom Showers
(C) Kall Vaishak
(D) The Mango Showers
(F) Question not attempted
o T TR F ED st & T
g 4 P AT 1 el 87 ;
freferfiaa famedi 69 wraiford 39T 3T L
Ay T (B) EER A A
) wwAmE (D) I i
(6) @A
Which of the following are exotic milch breedsof
cows?

N (©)

me |‘aﬂ5

In the winter scason rainfall occurs in SO

of Rajasthan due ta the \!cdilcrrnnC“" (9
which s called

: the
Choose the most appropriate answer from

options given below:

b. Jersey

a. Red Sindhi
Brown Swiss

c. Tharparkar d.
e. Holstein-Friesian
Choose the most appropriate answer from the

options given below:

(A) (d)and (e) only

(B) (a).(b) and (c) only

(C) (b), (d)and (e) only
(D) (b). (¢) and (d) only
(E)  Question not attempted

ﬁqi%ﬁ‘@ﬁﬁ%aﬁq-magiﬁaﬁﬁmérﬁﬁ ,
T &2

a. e fad b, W™~

c. RLREIICIN d. a3 |~
e, ECEAR-ERERET A ;
13 fo o e 8 et 39T IS
(A)  Fa (d) 3T (o)
(B) &4 (a), (b) 3 (c)
e (b), (d) 3T (e)
F (), (c) 3T ()
I W

(D)
(E)
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- R“")'\‘linp o

an he .
" ¢ done fop-

b,

Mc

al cang
Medica) Wasle

. [8)
R;l(‘ll\ WChve \\'I\Sl
d.

Plastic bottles(

106

Which ol the following mé eri?

for making compost/ manure? p th
m the

) ) answer fr0

Choose the most approprial® an

. . 7Q)
options given below:
)

Choose the mone af D (A)  Oiland paint
Fhiion : i Iv ‘opriate answer from the () Fruit and Vepetables pt'cl"
SEnvey ,
(A) }; ; ‘I Sl ©) Iixcrcl;miur}?:
! ¢)a - L
ned) ““h ) (D) Rotten foodmaterials
(BY @) and () only?
() (E)  Question not attempted L
(b) and lL)nnh F afir i ’Fh a '7” AT/ AT T 8
“l?‘ (1) and (d) onl\ﬂ i P
(E)  Question not; 'm;mp(cd Erefe ﬁ Fire q“ rmmm—{q
EIRETI p
T o
o R A o (B) et s gt 7 7
s . $ < (®) T AU
c. tfeamafE swfme e
d. i i amd Fny N
5 e b ~ (E) FAM@IT
# faw e fareredt B #H@aifies Iuge® ST in
Ay e (o) 3R () ©
) = (&S- 107 Ifa:6=b:7%¢: 3. then what is the value of
(B) araa(a):ﬂW(b_) 2“;3[7_0 ’
ol
(€) FaE (b) 3 (e)) “b+c 2a+3b=c o=
= T HA
\(D) el (a) 37 (d)! afqa:6="0: '{—c 8. W =g c
(E) ¥gaRa 94 g FTR? o ;
w 1 ®) 3
105 The microorganism fl&al causes Rabies is a- - B ‘l E‘) - Y
YOS te answer from the 3 - 5
Choose the most lll’l’”’f’ﬂ(l (4 & Qi 5t attempted ’31‘:\;3‘?73'1’1
options given below:) >
(A) Fungi (r'“) 108 In cattle digestidr bf cellulose occurs in-
(B) Bacterium e Choose the nlu.(fl:l‘apprupriure answer from &2
(C)  Virus ) options given below:
(D) Plasmodium O (A) Large intestine (B) Oesophagus
(E)  Question nu'l .1lllunpurd () Rumen \0 (D) Small intestine
m =TIl 1}"‘!1 A e - L{
i 1})  Question pat attem ted
Croffie fail 7 ) qratferas 3ugw 3T ( p
dAd h
? q‘ﬂoﬂﬂ adalamwm?mi"
AT @
= = ﬁmﬁf@aﬁ;—-&iﬁuw&mmwﬂ
(3)  FAAY (M )
oy (A) mﬁmq, (B) TEAR
~C) f}‘"ml v e | .. <
- (ag] @) ®RA o (D) TAHAEH
() o o) Irrt s
() FAfE 9 (E): ST

apc-A13] 3K
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109

\
\\(B)

4

ABC-A13 3¢

Cud is- 12

Choose the mosy appropriate answer from the
options given below

(A\)
(™

Fully digested food in camivores
Parually digested food in cattle
()
(D
()
TTE (F3) ©- ‘
F=teian faaesi & § maffus 59g@ S0 L
ST § a5ifeTe £ 8 wiad Sie

TE B yTieTE FY 4 arie M

Fully digested food in herbivores
Parially digested food in camivores

Question not attempted

(A)

)
(D)
(E)

I

STTa 949

The respiratony organs in fish are:
he maost appropriate answer from the

Choose
options given below:

(A) Fins (B)  Spiracles
(C) Lungs (D) Gills

(E) Question not attempted

Iz 55 R
F=imEA e 5 F waifie sugw SR
(A) (B) gGTay

€ FT== D) ==MH (fre)

(E) FTara T

3 (i)

|

Which of the following states does NOT share ffs
border with Rajasthan?

Choose the most appropriate answer from (He
options given below:
(A) Punjab (B) Gujarat

(C) (D) Madhya Pradesh
(E)  Question not auempted

il 3 @ 31991 159 TR & arg ey
TE1 AT AET FAA1 87

Fr=fafaa far=na a aaifu® sugw Tm T
EEIC (B) Tad

(D) worwEm

Mazharashtra

(A)

(E)

Aqafta 94

23

114

Which af e following Reactor | y
Nuclear
sttuated 1y Rajasthan?

M 3 T g
{

PE IS Curpe
n
lf

operatimg

Power PMlantsg

ol llul,\
YT T T i frory Wi
RECIS Rt RTE 2 p— AT frover

Choose the Most appropriate answer from (he

options 2iven below:

fFrfafaa fraei 6 5 watfira soaer o o

(A)  VVER 1000 (B)  CANDU
(C) BWR (D) IPHWR 590
(E)  Question not attempted / Wf"ﬂ as

‘Gram Swaraj Abhiyan® was undertaken under:
Choose the most appropriate answer from the

options given below:

(A)  Mera Gaon, Mera Desh

(B)  Sabka Sath, Sabka Vikas

(C)  Sabka Sath, Sabka Gaon, Sabka Vikas

(D) Sabka Sath, Sabka Vikas, Mera Gaon,
Mecra Desh

(E)  Question not attempted

ﬁq%mﬁm"ﬁ#wﬁ%mu ITTH:
IR T, B T

(A)

(B) T TTY, Herh fyahry

(C)  HTohT |1, HeIahT 1, Tt fqamg

(D) WeIhT WY, eIk feramrey, Ty iy, oy Sy
(E) 7wfd wer

The lowest populated district of Rajasthan
according to the Census of 2011 is:
Choose the most appropriate answer from the

options given below:

(A) Bundi (B)  Dholpur
(C)  Sirohi (D) Jaisalmer
() Question not attempted

2011 zﬁmw%ﬁsqmmnzmwam
mm K5 '{3
ﬁqﬁ!ﬁﬂaﬁﬁq‘iﬁi{ﬂﬂff&mmmgﬁ:

(A) & (B) IR
(©) \D) Swenn
) ey

| Contd...
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List-1

(Shepherd
community)

a. Rakas

b. Dhangars

c.

d.  Gujjar Bakarnal

==i-1

=

e=l vaa1d)
2 T==1

Match List-1 with List-11,

List-11
i
(Belongs to)
1., Jammu and Kashmir

11! “Rajasthan

T ("
Gaddi Shepherds 111 L\hhnr;mh(m

IV. Nimachal Pradesh

= F T =1 = e S

1L)

IR ECIES R R
O

the mest @pproprygle answWer from the"

-
Lb-MLc-Tv.d20

i

E Qu=stioa pot anempted A T
121 In I=dz the Wild Lifz. Protection Acl Was

— S = T STUEE A 1A T Ul
- B i el > } s | S ]
Chomse the mest approprigte answer from st
rions enven belows ¢
7 = P 1
e _~= - =2 rthre o SEUER
-,.-._,-—;'7:-" _:"':"'7!."5.-4:!.'1 ‘—“‘lmr,
- 976 (B) '1968 -
- = \,'Dl" 972 .
I
v |
C-A13] LY4 ~ 4
Al3] R

g\ (B)

N

122

123

~

Which of the following is not the indigenous

mileh breed of cautle? -,

Choose the most apprbpriate answer from the
(e

options given below:

(A)  Sahiwal )

(B)  Jersey ‘ !

(C)  Red Sindhi (‘ l»

(D) Tharparkar

(E)  Question not :\'Nr_emplcd

st i & i ) qu 23 e o 7 2 T

ﬁqfar@afam“ﬁ%}mfrmmo T

(A) WA o
= =, Y
Stil x
(©) et T
(D) TR A\
(B) afEwa C
C
\‘*
Which of the following is not a fresh water fish?
Choose the most ap‘pl-rnprime answer from the
options given belo\\':h
(A) Common Camp
(B) Catla \
=
(C) Rohu
(D) Hilsa ¢
(E)  Question not \\‘}Lcmp\cd
iﬁqﬂa'\laaﬁé'ﬁq-mﬁs Sil -‘I¢\Q~‘“qm—;ﬁ oo
SR
P | S %
Er=IRIEGAEEISA ﬁ?taﬂliﬂ 3‘13?83?‘(?1'-{.
~A)  FEA T
(B) Facl
) ‘(\T?‘-\ O
(D) fe=wie -
(E)  EiE W
| Contd...
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ABC

(A)

(B) A (a). (b) 3T (c)
7<) Fa (b). (€) 311 (d)
(D) @A (b) 3T (d)

(E) 33aia ¥4

The advantage
poultry birds
a.

s of the ¢
agC system i
s ZIEC System of rearing

Reari :
aring of larger number of birds

, ;

b. Production of clean epps

fl. Control of parasitic discase
; Ensuring proper ventilation

Choos v i
: se l!w most appropriafe answer from the
options given below:

(A)  (a).(c) and (d) only

(B) (a), (b) and (¢) only

(C) (1), (c) and (d) only

(D) (b)and (d) only

(E)  Question not attempted
W%ﬂﬁﬁm(mﬁt)ﬁmﬂﬁmﬁ%ﬁwﬁ-
a. syfiyes He 7 uierdi @ 9T S

b, T NS A I

e qrsfiat T e e —

irizﬁgnéfaaﬁﬁif’waﬁ‘mmmgﬁ:
= (). () 3T (d)

126

Which of the following is designated as the Nodal
Agency in Rajasthan to implement the Prime
Minister Formalization of Micro Food Processing
Enterprises (PM-FME) over a period of 5 years
from 2020-21 to 2024-257

Choose the most appropriate ans\Wer
options given below:

The Rajasthan State Food Marketing Board

from the {5

(A)
(B) The Rajasthan State  Agricultural
Marketing Board
(C) The Rajasthan State  Administration ‘
Marketing Board )y
(D) The Rajasthan State Applied Marketing | &/
Board ol
(E)  Question not attempted
Freferfaa 8 @ F 2020-21 8 2024-25 T 5 iy
o1 syarfiq B ~QUTASE TR T THERT 3T I i
s (1 U - URTH §)" @1 ] T o foTt Tt
ﬁmqﬁﬁliﬁmﬁﬁqﬁfm'mlﬁv ‘
Frerfefiaa fawed ii @ wraffire Iagw T
(A) TIEAE T2 TE wrafen e
(B) T L aifu fawom aré
(C) TS T I mrfen
(D) TSEH 7 UCATEE AT |1E
(E) T 94
-A13] 3¢ 26

w (B
| (C)

) (E)

127 The “One District One Product Schem

" . o nemes W
Which of the following schem
integrate skill development n

. e ansy
the maost uppmprmlt‘

Choose
options given helow: .
Mukhya Mantri Kaushal Nir
(MMKNY) o
Mukhya Mantri Kaushal vikas )
(MMKVY)

Mukhya Mantri Yuva Kaus
(MMYKY)

Mukhya Mantri  Yuv
(MMYSY)

Question not attempted

(A\)

(B)
Yojand
(© hal

2 Sambal Y0j3 ey

—

(D)

(E)
Sresforer Frer § Fraret
mﬁq%ﬁaaﬁam.mmmqsﬁm _
et faaed & § Aatfus 393® ERi A
(A) eIt Fraret Fmior arsA (MMKNY)
T A forarrs AT (MMEVY)
Tl T T A (MMYKY)
g@:ﬁrgmmam (MMYSY)
A WA

(D)

e falls

under which ministry in Rajasthan?
Choose the most appropriate answer from the

options given below:

Ministry of Commerce and Industry

(B)  Ministry of Finance

(C) Ministry of Social Justice and
Empowerment

(D) Minister of Textiles

(E) Question not attempted

-;@m‘zzsmm‘mwniimﬂm
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(D)  58%

(E) " Question not attempted / 37afE vy

135 Ifthe price of petrol increases by 20%, by what
percentage should the consumption of petrol be
reduced so that there is no change in the expenses
on petrol?

TSI T HTT 20% ¢ 1Al 21 Iqeh I F fore
siowTa =1 41 1 e, foed ¥9e W e aren =g

~

(A 131% (B) 25%

(C) 20% D) 165%
(E) Question not attempted /Wﬁ'ﬁgﬂ

136 Milk fever is usually observed in cows and

buffaloes around calving time and is characterized
by-
Choose the most appropriate answer from the
options given below:

(A) Reduced blood calcium level
(B) Reduced blood potassium level
(C) Increased blood calcium level

(D) Increased blood potassium Jevel

(E)  Question not attempted

mﬁnﬁaﬁm%mﬂmﬁﬁ

ﬁnmﬁmﬁﬁwﬁwmmgﬁ:
<(A) T H FHfcaan = gl

(B) T H urefIram wUH HET
(C) T dfcagd T aE

117 , /
Marcks disease is o common disease of-

138 Bugyals are-

Choose the most appropriate answer from the
options given below:

(A) [lloney bee

(3) Catle
(C) Poultry
(D) Fish

(E)  Question not attempted
I T U W=7 4
(A) g @

(B) WA N
(©) FFEZH 1
D) wEia

(E) rafw a4

Choose the most appropriate answer from the

options given below:

(A)  Snow covered mountain peaks
(B)  Dry forested areas in Kumaun
(C)  Dry forested arcas in Kashmir
(D) Vast meadows in high mountains.
(E)  Question not atempted
_ T # -
Frsafeira et gt 0t 300G
(A)  aF srrmfe wda frat
NU(B) T i g o A
(C) i gy a
(D) St el 3 fereegar vt 8

() srgafe wa

(D) T I e T AT

(E) STIRATH,
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